
Agroparts: www.HARDI-INTERNATIONAL.com

PUMP - 463 DOUBLE W/MOUNTING
A320-HIN, 18:12:10

Page 0

Date 02.07.2013  12:50



Agroparts: www.HARDI-INTERNATIONAL.com

PUMP - 463 DOUBLE W/MOUNTING
A320-HIN, 18:12:10

Page 1

Date 02.07.2013  12:50

parts-n° order 
qty description

111438 1 HUB F.CLUTCH 361/460 PUMP
145996 1 FITT.DK S-67 FORK
145997 1 FITT.DK S-93 FORK
161802 1 FOOT FOR DOUBLE PUMP 463
242092 1 O-RING D69.5X3 (Use-242351)
242353 1 O-RING D44.2X3.0 VITON F.S-67
283866 1 CLAMP HOSE SCREW TYPE 2"DELTA
283916 1 TOOTHED RIM FOR CLUTCH
322224 1 FITT.DK S-67 TEE
322322 1 FITT.DK S-67 X 1-1/4"BSP MALE
322324 1 FITT.DK S-93 X 2"BSP MALE
334233 1 FITT.DK S-67 STR.1-1/2' RUBBER
334245 1 FITT.DK S-67 ELB. 1-1/2'RUBBER
334426 1 FITT.DK S-93 STR.2'
334446 1 FITT.DK S-93 ELB.2" PVC
334545 1 FITT.DK S-93 TEE
334572 1 FITT.DK S-93 ADAPTOR MALE MALE
334573 1 FITT.DK S-67 CONNECTOR
390912 1 GUARD PTO UPPER PART SHORT
390913 1 GUARD PTO LOWER PART SHORT
410347 1 SCREW M6X20 8.8
430438 1 BOLT HEX 8.8 DEL M12X65
430522 1 BOLT HEX 8.8 DEL M12X25 FT
450895 1 SCREW SET M8 x 16
460202 1 NUT HEX M6
927365 1 HOSE R X 73 BAR X 1-1/2 X0012"

28030103 1 CLAMP HOSE GEAR P5/4-S1.5"6724
92702703 1 HOSE PVC SUCT GRAY 2"


